





(1)

(2)

28 - N

R
[k ksRiRE]

*10ppmk i
:10~50ppm

:50~100ppm

[ ]
B
-
|

2100~ 1000ppm

:1000ppmLLl £
[ZHEeE L]

- SRR E LR
(HI9EERE THILKFRD
100ppm#% 48 % 1= #h &)

: BiEEEE LT EE

(H16E EIRAE THIEKFRD
100ppmZ #8 2. F=H%, HI9ERE
FETITBR 4N > =)

19

0 0O

16 100ppm

50 100 150 200m
ERERERIET
N
_(1BmilEE) AL RIRTSE
. (ZRIZ7IL &)
BN K HEKE g+ Bt FEMII VR
Rk kAR i=1.0~3. 0} / b
\ kKRR i= % e e FAKBKDE i=1.0~3 0% Bt
- = 7 Tmmkkn
. . fAIRR 7K BEK
mim RRH \ —
SHEEMTLT \
DL=10.00 BRNE ’ZL(

HEEE BEt

HUTE

PR - TR RR (T Ot M
SRR IR R - B RS R (EHboko iR E)

750

125125 200
|1

MEL-BET

(1) 1



(3)

50cm

(4)

1.8

AL {BIRAZK HEk T

AL fBIRT kK T

EEERRkE#KT

f M5 iHAREAHEK T

r // N (\
==
T ! //
M3 Rk T \\ \R
T, R ) 0 50m
/ =/ E—
; )\ Fl 5
— KT G
A y / 7 Pk T (ERSR
e 4 [0 TELTERT
AN L - EKBE OKED
J Sy - RAFE GED
R
/
B

EHA N A
Y B
fiLis ‘
75 T»

BRRR T/KE ¢ 450

EERIIA
1:5.0
]
1,300
1,000 150)
BEL
of 5
8
T 500
250
ﬁ 3 _
o= e 171 -
1,500 i i
EtR
FEFEE EgavoU-+
2RHRE
BE
[As] TH=14. 968

BER £ 2 — A 9800

2
TH=14_ 988 &
[As | I ——

HPg800 _|

BT 450 13. 927

BOX 1500 % 600

1 37 tth R R K B




(1)

m?2 7,000m3

(2
m3 12,000
m3 23,000
(3) m2 6,600
m2 71,000

20km
1000mm 610
1300mm 170
700mm 340
11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3

—~
=

I

—
w
===

—
N

—
w

—
Ul

—~
(22}

—~
=

—
N

—
~







W53 35 1R S i X

15 AR AT AR ZE T I X

S$=1:200
ERERERIET
=)
(1B PLEEE) H BT
_ (7R 77 )L )
BRmkEAE | BER g+ AZ Bt FERT TR
: FARFAKRE i=1.0~3.00 uua o A AR i1 0~3 05 (ﬂffi
——— T i ‘ v -
- N e ~ |

DL=10.00

ZHREMELT

SR E T REEM AR

(ASR)

| BREME

FIZKHEK TR 4E BT E X

S=1:40

TEHE : Bt

750

R

125]125 300
il

TR RN (X O] 2D

THIEE BRI (FOKENE
AT BT

)\
BHEE GEMR+ )\,
t =12.5em
T ()

t=12.5cm

et

7 =
(BER) S0
LS CBPTEE)
970
WL@@
[¥s)
N =71
“ g2
@, =]
500 500 ~ =
0. 250f Ph0_5
= e
T DR
T I

100

!

7K

H JERIFK BEK i

IFE=
]
EItha L5 AT BETB D Hh A
I ¥4 FROEE  HORERIRRENERIEH
-] A0 43 15 4R AE BT i (]
# R B fiiti=3
B E PRA ISR
E % A o= @




